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Verilog 1{15:
GP A a8

module g p (g,pP,Cc_1in,g out,p out,c out);
input [1:0] g,p:

input c_in;

output g out,p out,c out;

assign g out=g[l]|p[1]&g[C]:

assign p out=p[l]&p[C]:

assign c_out=g([0] |p[C)&c_in;

endmodule

1 AL niEes

module add(a,b,c,g,p,s);
input a,b,c;

output g,p,s;

assign s=a"b"c;

5_
assign g=alb;

assign p=a|b;
endmodule

2 frhnikas:



module cla2(a,b,cin,gout,pout,s);
input[1:8] a,b;

input cin;

output gout,pout;

output[1:8]s;

wire[1:8]g,p;

wire cout;

add addEilLa[Ei], [@],cin,g[@],p[@],s[@]);
add add1(a[1],b[1],cout,g[1],p[1],s[1]);
g p g p9(g,p,cin,gout,pout,cout);
endmodule

4 I hnigas

module clad(a,b,cin,gout,pout,s);

input[3:0] a,b;

input cin;

output gout,pout,;

output[3:8]s;

wire[1:8]g,p;

wire cout;

cla? Llaﬂta[l @],b[1:8],cin,g[@],p[0],s[1:8]);
cla2 clal(a[3:2],b[3:2],cout,g[1],p[1],5[3:2]);
g p g pd(g,p,cin,gout,pout,cout);

Endmﬂdule

8 frini%kas:

module :lau{a ,€in,gout,pout,s);
input[7:@] a,b

input cin;

output gout,pout;

output[7:8]s;

wire[1:8]g,p;

wire cout;

clad « laﬁta[% 8],b[3:0],cin,g[@],p[@],s
clad clal(a[7:4],b[7:4],cout,g[1],p[1],
g p g pB(g,p,cin,gout,pout,cout);
endmﬂdule
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hudule clalé(a,b,cin,gout,pout,s);
input[15:8] a,b;

input cin;

output gout,pout,

output[15:8]s;

wire[1:8]g,p;

wire cout;

claB :laELa[ :0],b[7:8],cin,g[0],p[0],s][7:0]);

cla8 clal(a[15:8],b[15:8],cout,g[1],p[1],5[15:8]);
g p8(g,p,cin,gout,pout,cout);

endmudule

32 frfnikes:

module cla32(a,b,cin,gout,pout,s);
input[31:8] a,b;

input cin;

output gout,pout;

output[31:8]s;

wire[1:8]g,p;

wire cout;

clale ‘laata[lq 8],b[15:8],cin,g[@],p[@],s[15:8]);

clalé clal(a[31:16],b[31:16],cout,g[1],p[1],s[31:16]);
g pB(g,p,cin,gout,pout, cout);

endmndule
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Verilog 1{15:

I O e - R N KIS BT S T~ R =123 Rt S BT L=l L==J 1=
module taskl (in,out) !

(*chip pin="¥23, fzg CARZ2THR) input [4: lin;

(*chip pin="H15,Gl6"*)output reg [l:0]out;
reg [3:0]num;
always@ (in)
Hkegin
num<=in[0]+in[l]+in[2]:
if (num==0)

cut<=2"'b00;
else if (num—1})
out<=2"'bl0;
else if (num—2})
out<=2"'b01;
else if (pum—=3}
cut<=2"'bll;

—end
endmndule
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Verilog F2F:
AT == om0 8 28 | 2EEE

module taskZ (inl,inZ,out) !

(*chip pin="Y23, Y¥Y24"*)inpuc [1:0]inl;

(*chip pin="AR2D ARII"*)input [1:0]in2;

(*chip pin="H15"*)output reg out;

parameter 0=2'b00,ABR=2'bL01,A=2'b10,B=2'bll;
I always@({inl,in2)

Hbegin
= case (inl)
O:out<=1;

AB:if (inZ2==AB)out<=l;else out«<=0;
A:if(ind==4| |inZ==AB)out<=1;else out<=0;
B:if (ind==B| |inZ==AB)out<=1;else out<=0;
default out<=0;
endcase

end

endmodule
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